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Physical Topology 

 

The term physical topology refers to the way in which a network is laid out physically. Two or more devices 

connect to a link; two or more links form a topology. The topology of a network is the geometric representation of 

the relationship of all the links and linking devices (usually called nodes) to one another.  

 

There are four basic topologies possible: mesh, star, bus, and ring  

 

 
 

 

 

 

 

 

6. INTERNET 

 

The Internet is a communication system that has brought a wealth of information to our fingertips and organized it 

for our use.  

 

History 

A network is a group of connected communicating devices such as computers and printers. An internet (note the 

lowercase letter i) is two or more networks that can communicate with each other. The most notable internet is 

called the Internet (uppercase letter I), a collaboration of more than hundreds of thousands of interconnected 

networks. Private individuals as well as various organizations such as government agencies, schools, research 

facilities, corporations, and libraries in more than 100 countries 

use the Internet. Millions of people are users. Yet this extraordinary communication system only came into being 

in 1969. In the mid-1960s, mainframe computers in research organizations were standalone 

devices. Computers from different manufacturers were unable to communicate with one another. The Advanced 

Research Projects Agency (ARPA) in the Department of Defense (DoD) was interested in finding a way to connect 

computers so that the researchers they funded could share their findings, thereby reducing costs and eliminating 

duplication of effort. In 1967, at an Association for Computing Machinery (ACM) meeting, ARPA presented its ideas 

for ARPANET, a small network of connected computers. The idea was that each host computer (not necessarily 

from the same manufacturer) would be attached to a specialized computer, called an inteiface message processor 

(IMP). The IMPs, in tum, would be connected to one another. Each IMP had to be able to communicate with other 

IMPs as well as with its own attached host. By 1969, ARPANET was a reality. Four nodes, at the University of 
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